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1
Introduction
According to TR 22.885 [1], the essential use cases for LTE V2X (V2V, V2I, and V2P) identified in 3GPP SA WG1 are as follows: 
· V2V: covering LTE-based communication between vehicles.

· V2P: covering LTE-based communication between a vehicle and a device carried by an individual (e.g. handheld terminal carried by a pedestrian, cyclist, driver or passenger). 

· V2I: covering LTE-based communication between a vehicle and a roadside unit. A roadside unit (RSU) is a transportation infrastructure entity (e.g. an entity transmitting speed notifications).

2
Design of V2X Scenario
2.1 V2X Scenario
In real scenario, the V2I, V2V and V2P are usually occurred simultaneously as describe in Figure 1:
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Figure 1. V2X scenario
Following Figure 1 it has the following discussions:
V2V communication has 2 scenarios:
· Mobility vehicle to Mobility vehicle
· Mobility vehicle to Static vehicle

V2I communication has 2 types
· Vehicle to Legacy communication 
· Vehicle to RSU
V2P communication has 3 types:
· Locally-routed 
· Direct communication 
· Legacy mode
2.1 V2P Communication
In the urban area, vehicles can update their information for real time event to BS when they are in infrastructure mode. When pedestrians are under the cover of BS, they can get information from BS. However, in the emergency situation such as vehicle accident, vehicles should broadcast the accident information to pedestrians directly; therefore, the latency between vehicle and pedestrian can be reduced. 
In V2P communication need to discuss 2 types as show in Figure 2, direct mode and locally-routed 
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Figure 2. V2P communication
Discussion: V2P need to discuss at least the following two types of communication:
· direct broadcast to pedestrian 
· locally-routed communication to pedestrian via BS
The V2P direct mode is like D2D, it can reuse D2D’s channel mode. The channel model is discussion in outdoor-to-outdoor, outdoor-to-indoor and indoor-to-indoor, and vehicles are usually at outdoor, so the indoor-to-indoor channel model in not discuss in this scenario. 

Propose 1: V2P’s direct mode is reuse D2D channel model. 
Propose 2: V2P’s channel model is outdoor-to-outdoor and outdoor-to-indoor.
3
Conclusions
It has the following conclusion:
Discussion: V2P need to discuss at least the following two types of communication:
· direct broadcast to pedestrian 
· locally-routed communication to pedestrian via BS
Propose 1: V2P’s direct mode is reuse D2D channel model. 
Propose 2: V2P’s channel model is outdoor-to-outdoor and outdoor-to-indoor.
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